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COMMON TEST-

i " rinding the wrong tenn in the given series: 7. 28" 63. i24.2i5" 342. 5 t l

2 Find the od{ man out -l050, 510.242, 106, 46,16, and 3(a) 510 (b)242 (c) 106 (d) 46

] .Tld the missing terry,Lin the following sequence : 4, 9, 19. .79(a) 36 (b) 37 (c) 38 lg13e

4.20% of 2 are equai to
(a) 20 (b) 4 dg 0.a (d) 0.04

5. The number of milliiiters in I liter is
I ful t0.000 (b) r,000 (clo.l (d) 0.01
I

6.Find the odd man out of the series g,27, 64, 100, 125,216,343

I tul zt gfioo (c) 125 (d) 34:'

7. Find the odd man out of the series3, 5, ll, 14, 17,21
O @)21 {Wt7 (c) ta (d)3 

) -)' ) ' t) 'L')z

r 8. Find the odd man out of the seriesl0, 25,45,54,60,75, g0
f, (a) r0 (b)45(c)5a @)75 

v,LJ'1J' Jr,uv, /J,ou

I
. 9.lf 2x-y:4 then 6x_35?
[ (a) 15 (v) i2 (c) 18 1j; lo
I

, 10, Area of the Rectangle:?

I ',ul Lengh * Breadrh (b) widtn*Breadth (c) Side*Side (d) Length*Height
1 1. Find the missing number? 5,10,g,13, 17,?,14,19,17,.....

\ tu) rs (b) r6 rciiitai)r " 'v)v)'Ji' t':'t+)t>,t t,""'
1

12' Which is the number that comes next in the following sequence ? 4, 6, 12, 14,2g, 30,0O (a) 3s (b) 46 (c) 5s (dl6o

13. The ratio of two numbers is 2:3.Their sum is 60.The numbers areI tal 20. 40 !b) 24. 36 tc) 30. so tal 2s,3s\/
14' rn a certain language MYSTIFY is coded as NZTUJGZ,how is NEMISES coded in rhari code?

\ I,) MDLHRDR (b) OFNJTF] lC,lODNHTDR (d} PCOKUCL
I
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\ ti. lt rt takes llve minutes to boil one egg, horv,.iong u,iii it rakc to boii ibur eggst

I ta) I rninLrle (b) 4 nlinutes (c) 10 minutes (d) 5 minLite s

r [6. {-'hoose the.rr,,ord rvhich is least likethe otireru,orci-q in the group.

1' taiKiwr (b€agle rc) Lnru (d)Penguin (c)(lstrrclr
l

t/\t 17. Choosing the odd pair of rrords.
L-' (a) Pascal:pressure (b) Watt: Porver (c) Anrpere: Current (d)Radian: Degree (e) Joule: Energy

, I 8. Choosing the odd Iettgr group.
( ra) A('Ht (b) DFKLJCfuNST (d) oevw (e) pR\4rX

fr i9. -------------------is a Non-Voiatile meiaory.u (a) RAM (b) ROM ({1ione of these.

20.1 KB stands for..-------

I (a) 1000 bytes (b-) 1024 bytes (c) 512 bytes (d) None of these.

Write the Abbreviation for the following:

{ ,r. www - t,6," uos*\& ;1$a "-se'}
I

f 2I.HT\/IL- Hgv-" \Qtt}- \'rcetrc"rq \s.a-^o-*gr

23' RAM - Rc^CI&osn Acc^= '$^ac^s-c\
i
( 24. BASrC -

| 25. ALGOL -

I
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